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public static int NMaiveMaxPairwiseProduct(List<int> numbers)
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[TestMethod()]
[DeploymentItem("TestData™, "TestData")]

o

S aslsl

public void GradedTest Correctness()

{
¥

TestCommon.TestTools.RunLocalTest(Program.Process);

[TestMethod(), Timeout(5@)]
[DeploymentTtem("TestData"”, "TestData")]|

o

public void GradedTest Performance()

{
¥

TestCommon.TestTools.RunLocalTest(Program.Process);
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TestCommon. TestTools.RunLocalTest(Program.Process);
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public static string Process(string input)
{
var inData = input.split(new char[] { "\n', "\r', " ' 1},
stringsplitoptions.RemoveEmptyEntries)
.Select(s =>» int.Parse(s))
LToList();
return NaiveMaxPairwiseProduct(inData).ToString();
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[Testmethod()]
o
public void NaiveMaxPairwiseProductTest()

{

int mpwp = Program.NaiveMaxPairwiseProduct(new List<int>() {1, 14, 15, 9 });
Assert.AreEqual(mpwp, 14 * 15);
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[TestMethod()]
o
public void GradedTest Stress()
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